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. Which one of the following rivers is NOT

the part of Indian Ganga river basin ?
(a) Punpun niver (b) Ajoy river
(c) Jalangi river  (d) Jonk river

. What is the theme of World Youth Skills
Day, 2021 ?
{a) Young People and Skills

(b) Skills Development and
Employment

¢} Young People and Entrepreneurship

(d) Reimagining Youth Skills Post
Pandemic

. Which one of the following pairs is NOT
correctly matched ? :

(Name of local (Places)
winds)
{a) Leveche - Spain
(b} Brickfielder - Australia
{c) Black roller - Morth America
(d} Shamal —  Austria

. Which of the following Constitution
Amendment Acts made necessary
provisions for the implementation of GST
(Goods and Service Tax] regime ?

{a) 101% Amendment Act
(b) 10274 Amendment Act
(c) 103™ Amendment Act
(d) 104'8 Amendment Act

. Which one of the following causes is
responsible for rainfall during winters
in north-western part of India ?

(a) Retreating Monsoon
(b) Cyclonic depression
(c) Western disturbances
(d) South-West Monsoon

. In which year P.C. Hota Committee on
Civil Services Reforms was constituted ?

(a) 2003 (b) 2004
(c) 2005 (d) 2006

. As per the Census, 2011 estimates,
which one of the following is the maost
populous State in India ?

(a) Bihar (b) Madhya Pradesh
{c) Maharashtra (d) Uttar Pradesh
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In February 2021, Ngozi Olan:

was appointed as the first v ﬂl::?;:‘i% Iweala
General of World Trade Organisat;
She belongs to which of the fol) tion,
countries ? Owing
(a) Nigeria

(c) Kenya (b) South Africq
¢

[dl E“'l l(}p"a

Flyash pollution is caused by
[a) Oil refining

(b) Fertilizer industry

c) Thermal power plant

(d) Mining

Which of the following countries is NOT
located on the bank of the Black Sea ?

Ea:l S}'T'Ia [b] '],T'L[t'ke}r
(c) Georgia (d) Bulgaria

Consider the facts given below :

1. Sukumar Sen was the first Chief
Election Commissioner of India.

2. Rama Devi was the first woman
Chief Election Commissioner of
India.

Choose the correct answer from the

codes given below.

Codes :

(&) Only 1 is correct

(b) Only 2 is correct

lc) Both 1 and 2 are correct

({dj Both 1 and 2 are incorrect

According to ‘Global Peace Index, 2021",
which of the following is the most
peaceful region in the world ?

&) Africa (b) Europe _

[c) Australia (d) South America

Which of the following pair is NOT
correctly matched ?

Place) (Tribe)
(&) Alaska - ];31‘}‘5::‘
[b] ECI-I"['[ED - na
(¢} Arab Desert - Ruwasla
d) Sweden and Finland = Lapp

Th i iginated
e concept of ‘carbon credit’ origina |
[rl:lm

(@) Earth Summit, Rio-de-Janeire
(b) Kyoto protocol
[El Montreal proto

col
~ 8 Summit, H&illﬁe“dam
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. Who among the following was the

Chairman of the First Finance
Commission of Indin ?

(a) Shri. Santhanam

(b) Shri. K. C. Neogy

{c) Dr. Raj Mannar

(d) Shri. A. K. Chanda

With reference to Mekong river, which of the
following statement/s is /are correct ? -

1. Mekong nises' in Tibetan Plateaw

2. Mekong delta is situated in
Southern Cambodia.

Select the correct answer using the codes
given below.

Codes :

{a) 1 only

(b) 2 anly

(c] Both 1 and 2
{d] Neither | nor 2

Which one of the following pairs is NOT
correctly matched ?

{a) Vitamin-A - Orange
(b) Vitamin-C = Lemon
[c] Vitamin-D = Coxl liver oil

(d) viLa_min-Bﬁ - Rice bran

Which of the following vitamins is
essential for normal vision ?

(a} Folic acid (b} Ribollavin

{c} Niacin (d) Retinel

As per DG India Index and Dashboard
2020-21 published by the NITI Aayog,
which one of the following States was
NOT among the top five States in their
performance regarding SDGs in the
country 7

(&) Gujarat

{b) Andhra Pradesh

c) Goa

[d) Tamil Nadu

In which of the following years, the
Environment (Protection) Act passed by
the Government of India ?

(a) 1982 (b) 1986
(c) 1990 (d) 1992
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Which of the following is NOT correctly
matched ? ?

Institute Location
(a) International Centre  — Naijrohj
for Research on
Agro-Forestry
(b) Indian Institute of - Bhopal

Forest Management
(c) Central Agro-Forestry - Banda
Research Institute

id) Tata Energy Research

— New Delhi
Inshitute

Which of the following State has the

lowest density ol population as per the
Census 0f 2011 7

|a) Himachal Pradesh
(b} Arunachal Pradesh
(c) West Bengal

(d) Mizoram

Botulism is

[z) Food-borne infection

{b) Food-borne intoxication
[c) Water-borne infection

d) Water-borne intoxication

Under the Constitution of India which
of the following is NOT a Fundamental
Duty ?

(a) To vote in General Election

(b) To develop the scientific temper \

[¢t) To safeguard public proper Ly
(d) To abide by the Constitution and
respect its ideas

With reference to the electric potential,
which of the following statements is/are
Correcy ?

L. It is a scalar quantity:
- ILis a vector quantity-

Select the correct answer using
EE“'ET? below.

odes ;
(&) Only 1 (b) Only 2 ;
(¢) Both | ang 2 (d) Neither 1 0o

the codes

(& ! (a) FEa
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26, Which one of the following Acts of
British India strengthened the Viceroy's
authority over his exccutive council
substituting ‘portfolio’ or ‘departmental’
system for corporate functioning ?
(a) Indian Council Act, 1861
(b) Government of India Act, 1858
(¢) Indian Counecil Act, 1892
(d) Indian Council Act, 1909

. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A) : Human body synthesises

all the vitamins required by It.

Reason (R) : Vitamins are essential for

proper growth of the body.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of [(A)

(b) Both (A) and (R) are true, but (R} is
not correct explanation of (A)

(c) (A] is true, but (R) is false

(d) (A) is false, but (R) is true

. With reference to the special address
of the President of India, which of the
following statements is/are correct ?

1. The President addresses the joint
meeting of both houses of Parliament
at the commencements of the first
session after each general election of
the house of the Peoplc and at the
commencement ol the first session
of each year.

The President in his address informs
the Parliament of the causes of its
SUIMIMONS.

Select the correct answer using the codes

given below.

Codes :

{a) 1 only

(¢) Both 1 and 2

2.

(b) 2 only
(d) Neither 1 nor 2

20. Which one of the following reflects back

more sunlight as compared to other
three ?

(a) Sand Desert
(b) Paddy crop land
(¢) Land covered with fresh snow
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which one of the follow
correctly matched ?

(Subject) (Relateq
, Articles)
(a) The separation of = Article 50

judiciary ft‘n!'n executive
(b) The promotion of
educational and
economic interests
of Scheduled Castes
and Scheduled Tribes
(c) The promotion of
Co-operative Societies
(d) The organisation of
Village Panchayats
and enable them to
function as the units
of self government

— Article 46

— Article 43A

— Article 40

Which of the following Ramsar site is
NOT situated in Uttar Pradesh ?

(a) Sur Sarovar

(b) Samaspur Bird Sanctuary

(c) Sansal Nawar Jheel

(d) Surinsar-Mansar Lakes

Uttar Pradesh Government declared in
budget 2021-22 to provide tablet for
student under which of the following
Yojna ?

{a) Chief Minister Abhyudaya Yojna
[b) Chief Minister Rozgar Yojna

¢} Chief Minister Balseva Yojna

([d) Chief Minister Education Yojna

er Management

The ional Disast ivisi
e National Disas 1e nodal division

Division | ia is tl :
in lht“h"ll?ﬂ%:ﬂ'? of Home Affairs 1o
1saster management. Who is Al
Ex-officio Chairman of lh"’-“%[m“
isaster Management Authority -
[4) The Prime Minister
(b) The Home Minister
lﬂ} The Defence Minister

[d) The Health and Family

t v is due to the
Bh-Iﬁ b fi;s]lﬂmﬂﬁ in the

aby syndromé€
grﬂﬁfzncn 0115 ngﬂh of the

Lded 2 obin
[a) Hag (b) Mﬂh"mngl

i .
) oglobin g Nitrate
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ing is NOT
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‘Fawaid ul Fawad' is the
record of the conversations of Shaikh
Nizamuddin Auliya, it was compiled by
(a) Amir Hassan Sizzi

(b) Amir Khusro

(¢) Ziauddin Barni

(d) Hasan Nizami

Largest saline water lake in India is 36.

(a) Chilka (b) Sambhar
(c) Lonar (d) Wullar

which of the statements is/are correct ?

1. Process of capital formation depends
on savings and effectiveness of
financial institutions.

2. Investment is the essential factor of
capital formation.

Select the correct answer using the codes

given below,

Codes :

(@) Only 1

(c) Both'l and 2

(b) Only 2
(d) Neither 1 nor 2

According to the Union Budget 2021 - 22,
Finance Minister proposed a new
levy Agriculture Infrastructure and |
Development Cess. This cess will be/

levied on how many products ? &

la) 12
{c) 25

(B) 20
(d) 29

Given below are two statements, one is
labelled as Assertion (A} and other as
Reason (R) :

Assertion (A) : The Council of Ministers
in India is collectively responsible to both
Lok Sabha and Rajya Sabha.

Reason (R) : Members of both Lok Sabha
and Rajya Sabha are eligible to become
Ministers in Union Government,

Select the correct answer using the cades

given below.

39;

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and lRf are true, but (R) is
not correct explanation of (A)

(] (A) is true, but (R} is false

(d) (A) is false, but (R) is true
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iCan you show me one free

countr
vhere thers are scparate elec Y
‘_. The British element is Orates 7

B A
i ave left mischief behingtone but they
who among the followin
mentioned statement in
Assembly debates ?
(a) Somnath Lahiri
(b) Jawaharlal Nehru
(¢) Sardar Vallabh Bhai Patel
(d) N. G. Ranga

e
the Constitueng

wworld Ozone Day’ is celebrated on
(a) 25" December (b) 215t April
(c) 16" September (d) 30" January

Tapa cloth i1s obtained from the plants
of which one of the following family ?

(a) Asclepiadaceae (b) Moraceae
(c) Graminae (d) Malvaceae

Match List — 1 with List — Il and select
the correct answer using the codes given
below the lists.

List - I
(Mineral
Exploration
Agencies)

A. Oil and Natural

Gas Commission
. Mineral
Exploration
Corporation Ltd.
National Mineral
Development
Corporation
National
Aluminium
Company Limited
Codes ;

A

&) 4
(b) 1
c) 4

List - II
(Headquarters)

. Bhubaneswar

=

E . Hyderabad

. Nagpur

New Delhi

B C
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44. With reference to the G-7 Summit held
in June 2021, which of the following
statements is/are correct ? .

I. United Kingdom was the Chair of
the Sumimit.

2. Brazil was invited to the Summit as
a guest country.

Select the correct answer using the codes |
piven below.

Codes :

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

45. Which one of the following is NOT

correctly matched ?
(Ruler)

la) Rana Hamir

(b) Rana Chunda

(¢} Malik Raja Farooqi

{d) Malik Sarwar
Khwaja Jahan

(State)
Mewar
Marwar
Khandesh
Malwa

46. At the time of second wave of
COVID-19 Pandemic, which institute
had demonstrated the conversion of
nitrogen generator into oxygen generator ?
(a) 1ISc, Bengaluru

(b) IIT, Bombay

(c) 11T, Madras

(d) 1IT, Kanpur

‘Uttar Pradesh Swami Vivekanand
Etihasik Paryatan Yatra Yojna 2021" was
introduced by the U.P. Government for
which of the following people for religious
travel ?

(a} Elderly
(c) Widows

47.

(b) Women
(d) Labourers
48. Which of the following Schemes in Utta
Pradesh were intrn_d%med in Budget uli'
2021 -227 -

I. Atmanirbhar Krishak Samanvit

Vikas Yojna
I1. Mukhya

Yojna , _
1. Mukhya Mantri Pravasi Shramik
dhyamita Vikas Yojna
IV. Yuva Udhyamita Vikas Abhiyan

Select the correct answer from the .é-::-d:s
given below,

Codes :
(a) 1, 11 and 111

antri Saksham Suposhan

(b) II, 1T and v

www.sforstudy.in
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44 Eﬁzuzlﬁaqﬁrﬁfﬂs-?ﬁﬂﬂgﬁmaa

3 Prrafian & & wi /@ w98 &8 7
J@mmwﬁ@ﬁﬂ“ﬁ
eE o | _
2. s ) sifef 2 3w R T
e o amifas e man A |
| GL) 1 fag o e @ Wt s 4T |
E#ﬂﬁl (b) e 2
(c) 1 3k 2 2 (d) Fd 1782
45, | Frerferfas 1 & @5 -51 v T8 gateT 7@ @ 7
(9mEe) (T=3)
(a) T & - HErE
(b) T U= = A
(c) Hfet T - @He
(dl) Wfeteh TR & S8l - Hier!

46, @ifae-19 wamil i gal e F w6y he gEE
3 ATIIHA AL I ATFE A FAEE H FaeA H
wedt T o 7
(a) v famm geum, JEE
(b) 318, 31841, =g
() 3T8.313.41., W
() #TE.2E A, FER

47. ‘I vem =i faawme thefas v am
ATl 2021 1IN WEH Hin A4 urits g
¥ fore frt 8 @ R =i % R amay

mit 8 7
= fom (b) Afeenail &
{{i: ﬁﬁrﬂmaﬁ%%@ () naajiéaﬁrqm

48) frefafes § 8 SH-H G5ET 39 w2y & guz
2021 — 22 # snfs &1 R 7

1. amenfdt Sy wai<m fawm g
[1, el HEpH AN A

111, e sEnh 2f Sefar R g ‘
1. e safie s st

ﬂ%ﬁq“ﬂi@ﬁFﬁmmm#&ml |
;e ;
(a) 1, I W& 1 (b) 11, 111 wg 1y ‘

(©)LMand IV  (d) I, Mand IV

-10-

(c) 1, & IV (d) I, il g py

%'



=

|

1

40. A

50.

92,

93,

mcmblﬂr Dr State Puhlic S :
Commission may be removed G EIVige
(@) The Governor on the basig of
impeachment in Vidhan Sabha
The Governor, after the enquj
" conductec by the Suprﬂmeq(]nurl
(c) The President, after the enquj
conducted by the Supreme Corit
The Governor, after the enquj
(d) conducted by the High cﬂtilrt ry

hich of the following Institution /0
gﬁng out the Wholesale Price lndc'i n‘;ﬁgﬁ
data in India ?

(a) The Reserve Bank of India

(b) The Ministry of Commerce and
Industry :

(c) The Mimisiry of Finance

(d} The Ministry of Consumer Affairs,
Food and Publie Distribution

_ Which one of the following is NOT a major

coco producer country ?
(a) Latvia
(c) Ghana

(b) Cameroon
(d) Ivory Coast

Which one of the following is NOT an
¢lement of rural community ?

[a) We-feeling

[b) Cultural diversity
(€} Territory

(d) Self-sufficiency

Which Constitution Amendment Act
reduced the voting age from 21 years {0
18 years ?

[4) 66" Amendment
(b) 6274 Amendment
(6} 61% Amendment
1d) 63" Amendment

+ The Public Accounts Committee of Indian

Parliament scrutinizes the

(a) Report of the cgmptruller and
uditor General :
Consolidated Fund of India

‘:} Public Account of India

E{}nﬂngen:}; Fund of .India

www.sforstudy.in
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49, TIw T AT S & Hae H g2 ol

Tl B

(a) Ty @ Ferip % smar 7=
AL

(b) F==an =rAEd 6 St & g Tea9r
ALl

C (c) e e ) st ¥ A aeaf &
(d) 3= =rgTerg i Sia % grErd asaae w0

50, WG i 4t e HEw (WP) % s Frfeied
H A - T iy s e e 7
(o) vireeT frard 3
N (b) =i UE FEin HaeE
TS RERREIGES
(cl) IR HTH, @ UE T e
LT

1.) Fpeferfaa i B S1A-81 U Hi & Y7E IIEH

WA @ 7
L ) (a) smafa

(¢} =1

b

(b) #HEA
(d) HgaEl FHE

52. frafafen # & FW-7 oy @9 1 G
TR 7
— (@) 79 = W=

| (b) BTRlo fafawm
\L‘-_‘)/ (c) &=
(d) srrenfnd

53, ®H-8 HRavm FevE sAtufEm g gaEE
3 21 o # geew 18 & fen e ¢
(a) 66 a1 TNYR
(b) 62 af Gy
(c) 61 4 HaHA
(d) 63 af G+

54, Wy Hue = T o Aty gee F
(@) T = wererEn whae & afaae

@ (b) i = wiag fi A

(c) W & wiish <iE] &

() ¥irea =i srreRfaER A

=17



i

55. Given below are two statements, one 18

Y

labelled as Assertion [A) and other as

Reason (R) : 1

Assertion (A) : The Mughal Empire Was

originally a Military State.

Reason (R): The vitality of the development

of the Central Government System

depended on its military power.

Select the correct answer using the codes

given below,

Codes : :

(a) Both (A) and (R) are true and (R) 1s
correct explanation of (A)

(b) Both (A) and (R) are true, but (R] is
not the correct explanation of (A)

{e) (A) is true, but (R) is false

(d) (A) 1s false, but (R) 1s true

With reference to the 'Uttar Pradesh
Population Control, Stabilisation
and Welfare' Bill, 2021 which of the
following(s) is fare correct ?

1. This Bill aims to bring the birth
rate down to 2.1 per thousands
population by 2026.

2. At present, the fertility rate in the
State is 2.7 per thousand.

Select the correct answer using the codes

given below.

Codes :

(a) Only 1 (b) Only 2

[c) Both 1 and 2 (d) Neither 1 nor 2

Match List - | with List — Il and select
the correct answer using the codes given
below the lists.

List - 1 List — 11
(State) (Representation in
Rajya Sabha)
A. Rajasthan 1. 10 seats
B. Gujarat 2. T seals
C. Karnataka 3. 11 seals
D. Punjab 4. 12 seats

(a)
(b)
(€)
(d)

S -
Wwhowwl
— R0
Ne =

Codes : C

(

{

www.sforstudy.in SMRN-1 - 21

5. A wn g, fred A T AT
T gt 1w (R) FE e
aﬁmialzwwﬂ@ﬁﬁﬁ%
T 1 |
e (R) : e e e & R
i sa) A wfe 7 R A |
1 fow 10 e B ) T R A DO |

He:

@ (a) (A) 3 (R) 21 &= & 3T (R), (A) =1

' HE SATEN F R

(b) (A) 3t (R) &rit @ &, g (R), (A) F
Het ST TE @A 2

(c) (A) = &, T (R) T 2

(d) (A) e 2, TR (R) &7

56. ‘I WEN TEEEET Eaw, R 3w
fatern, 2021 F T # FE-H1/H HUT GH
?/E 7 )
1. 35 Tt w1 3890 2026 7% A4 gL H

9.1 Wi B9 FEET 9% HH T 2 |
2. gAH™ B U=y § 9SA 21 2.7 9fa w2 |

fr2t faw @ g2 @ wE 3w w g |
o e
> (o) Few (b) Heat 2

(€) 1 3T 2 gl (d) Fdt 1% 2
57. gt — | 7 g - 11 8 yiferm Afsw qen g

% A1 w2 @ W 3w w5 =97 iy
et -1 HEt - 10
(3) [rsaEe A wfafiiie)

A, TEIH 1. 10 #@E

B. =@ 2. 7HR

C. FAeH 3. 11

D. T 4. 12 #HiE

T

B it

G SRR )

(b) 2 : g 1

¢ 1 4
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58. A

59.

60.

61.

62.

63.
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love represents to :
Bilowing? Which of the | 5g, wf frerfrfiam & & fasa Fream 2 7
a] Terminal bu !b; Accessory bugd (a) 3fEE el (b) T Fel
H Flower bud Vegetative hud { ) (c) et Fedl (d) ==t well
cadline inflation refers to the zrehifa Jreft 3 it IEE i
f,‘wﬂ]minr_gﬂi goods on the basker o | iﬁ&ii ) wehi w2 | N i
i as1 ¢ headl i £
wich bisi 15 the headline inflation | e o oy e
a) Wholesale Price Index () @Y & DS
(b} Censumer Price Index for Industrial (| CL) (b) aiveitfen sfereR Igurean gear Hnih
orke B
E}mbi ned Consumer Price Index (c) ATfe i S

8
the symbol ‘ECOMARC' is related to
which of the following ?

(a) Goods of best quality

(b) Safe goods for environment
(¢) Exported goods

(d) Imported goods

Urban Consumer Price Index

Which of the following is the correct
sequence of the Islands of Indonesia from
West to East 2

(a) Java, Sumatra, Lombok, Bali
(b) Sumatra, Java, Bali, Lombok
(c) Sumatra, Java, Lombok, Bali
(d) Bali, Sumatra, Java, Lombol

Which of the following is NOT mosquito,
borne disease ? L O
(a) Dengue fever (b) Filariasis

lc) Sleeping sickness  (d) Malaria
SENSEX' is the popular Index of Bombay

Stock Exchange (BSE). It is measured
on the basis gnf Low many blue chip

l. Ashok Mehta Committee
Il LM. Singhvi Committee
Il B.R. Mehta Committee
V. G K.V, Rapo Committee

Seleet the correct answer from
Blven below.

Codes :

(

the codes

arp

Tl 1 A 3

(@) STTET, FATE, TS, T
(o) FET, S, a'r-rvﬁ AETF
(c) THTT, ST, AT, GG
() =T, HHTHI, STE, SEE

62. Feifafaa § & Fw-w 1 7=et =ifed T8 2 7
(a) T = (b) mﬁmﬁm

() fzn T () mEfEn

63. HEeE WA wiE vegew (BSE) F1 w=fed

waeE 2 | s, # g e = fa
Ffie & 36 WA B8 7

T

companies listed in BSE ? ( :—[-_)) (@) 20 Y. 30

E:a] - “;’ ?E (c) 25 (d) 10

€} 25 (cl)

Consider the following Committees on 64, v e g Fre afufi w GEm i e
' o Ay . :

Fﬂnchﬂ;aticﬁaj and arrange these 1nl 58 FTCTHHIHR atead 2 :

ﬂhfﬂnulﬂgiﬂai order : 1. aTeites Hear @

11 ug.uw, e afifq
@ 1L .3, e wfafd
1V, i3, 7= wifa
i fo ) 3 =1 weTEa A w3 E =a
#Hifsm |
T

@1, I, m, v (b)) OL 1, IV, 11

l:b] 111, I"l w" 1l

(a) 1,
Lo, m, v 0 i, [

O, 1, m, v

-13-

(e) It, 1, HI, IV

U

(@) uI, 1, v, 1
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65. Which one of the following is NOT
correctly matched ?

(Provisions) (Sources)
(a) Fundamental Rights - USA
(b) Directive Principles of
State Policy — Ireland
(e} Residual Powers of (
Center — Australia
—~ Germany

(d) Emergency powers

The blood glucose level is commonly
expressed as

(a) MM of Hg
(b) Milligram per decilitre

G6.

(e} Parts per milhon
(d) Gram per litre

sMRN-1 - 21

65, Pt 1 @ woa s g7 98 P

TR 7
() (=
(a) Wferr srfirn - FygF T
R
. (b) T % i P ae - FEAES
9 (c) Tz 6 s wfawl - AeEd
(d) smTeERTe ofami - SEAT

66. T # g 1w wEET g
T #
(a) THUR A% Hg % #9 H
QL) () fircfam wf 2faferm & =9 &
(c) UreR ufa fufeza & =9 8
(d) o9 wfa foer & =9 ¥

67. Frefafen gemai @ fa=m Fifww 59 399

67. Consider the following events and arrange
them into chronological order : FHTEHAAT e Fi
I. Sharda Act 1. e wifufam :
II. Nehru Report ”' Ja R
llI. Constitution of Simon Commission ; : -
IV. Dandi March :LIF s SR
Select the correct answer using the codes 1
given below. A9 fau T 2 & W I = 59 A |
Codes : ( e T
(a) III, 1, 1 and IV (a) III, I, T 98 IV
{b) I, II, Il and IV (b) 1, 1T, III a&1 IV
(e) IV, 111, Il and | ~e V- Tard
(d) I, IV, I and 111 (d).1, IV, 1L g®m 111
68. Which of the following is NO'
Saehon £ 15 NOT correctly [ 68. frmfefm i & ®1-w1 wdt wifem =8 4 -
(@) Acid present in ~ Acetic acig (a) ferem # 3ufed 3P — wifem ane
vinegar (b) BfgEt & ufea M — Hfsepm
(b) Compound present - Calcium HTER
in bones 5
Phosphate
[c) Souring of milk = Nitric acid C_ (o) Hi T S il h ‘frsiia: A
(d) Acid presentin - Hydrochlogic (d) I W A IR - LiEscroie
Eastric juice acid e 3
B

-14-




i Plfthlr: and a pact with the civi

5
69 Mﬂlch List = I with List

Sl
the correct answer using (, and seleet

helow the lists, € codes given

List -1 List - 1
15{95];![1&“:] [anatiun]
A, Similipal I% Uttarakhang
B, Pachmarhi 2; Meghalaya
¢, Nandadevi 3. Madhya Pradesh

D. Nokrek 4. Odisha
Codes :
A B C D
I:HI 4 3 2 1
l'C] 1 3 B 2
1d] 3 4 1 2

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (K] :

Assertion (A) : Teesta river was earlier a
ributary of Ganga now it is a tributary
of Brahmaputra.

Reason (R) : River capturing is a major
feature of Himalayan rivers.

Select the correct answer using the codes
given below.

Codes :

la) Both (A) and (R) are true and (R) 18
correct explanation of (A) _

[b) Both (A) and (R) are true, but (R) 15
not correct explanation of (A)

Ic] (A) is true, but (R) is false
ld) (A) is false, but (R) is true

- Who among the following person said

for the Fundamental Rights “a pled ;1:3

worldg"

(8) Pt. Jawahar Lal Nehru
b) Dr. Bhim Rao Ambedkar
(¢} Dr, Rajendra Prasad

ld) Dr. 8, Radha Krishnan

R which one of the following cities

i i = ol Skills
COUntry’s firgy [ndian InSttute

¥as establighed ? -
@) Ahmedapad (o) Mumba
(¢) Rohtay (d) Kanpur

-1B-
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60, w1 1 HE - 118 gAfer A e greE

3 4 fou g & T g w1 = AT |
w1 T - 10
(StamuEd ) (arateafa)

A. fafrefir 1. IAq@ETs

B, TEHHEl 2. Hurerd

C. T 3. Weg wed

[, ARt 4, snfeam

He
A B CD
4 3 29

) 4 3 1 2

¢ 1 3 4 2

ddl 3 4 1 2

/';E. #12 2t Fue fau o R, fod 8 v = safhises (A)
' aiv ZET ) R (R) FE R

arfirmud (A) : e 76 w28 o =i gEEE A
ol STTee 98 F@HA H HEEE A L |
FN (R) : T2 e feuem i 9fem 1 0

WHE TR |
A1 fau v e @ 9dl 3w =5 A |

"EEE.

(a) (A) 3 (R) 21 &ed & 3 (R), (A) it 5
STE FA1 2

(b) (A) 3t (R) 2t &=a €, fFeg (R), (A)
U SqREl TE A 2

(¢) (A) wea &, g (R) Tora @

(d) (A) e R, fafg (R) a2

71, Tt 3 @ forw =i 2 ue sl = it

aii % fore ue wfvw aen 5 fam & iy e
T wwEtan’ e o 7

() 9fTEm STt o1 TEE

(b) =1, sfinue spsgat

() =, 1sig gang

(d) =1, uH. GEEFEE

72, frefafas wed 4 A 5w o 4 20 =1 gy

Tt were deam s o mn e
(&) FHEHETER (b) He=d
(c) e (d) R
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hi

73.

T4,

TS.

76.

Al

78.

79.

Which among the following arc India'ﬁ
permanent and operational researc
stations in Antarctica ?

sMRN-1 - 21

sy T EAT

73, faeafifian it & A sferom M

(a) W 3T
(a) Bharati and Arya 1 o
(b) Bharati and Dakshin Gangotri ( (b) et $ ﬁ‘” T
(¢} Bharati and Maitri C) (o) ¥t

(d) Dakshin Gangotri and Maitri

Which of the following particles has zero
charge ?

{a) Positron
(c) Electron

(b) Neutrino
(d) a-particle

With reference to the radioactivity,
which of the following statements is/are
correct ?

1. Radioactivity is a nuclear property.

2. Hydrogen bomb is prepared on the
principle of nuclear fission.

Select the correct answer using the codes
given below.
Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2
{d) Neither 1 nor 2

Who originally fpmpnundtd the theory of
three stages of social development ?

|a) Karl Marx
(¢) Herbert Spencer (d) Auguste Comte

‘Ringelmann scale’ is used to measure
density of

G

(b} Talcott Parsons (|

4. P i 3 e o o0 9 0 B R 7

() ® e (b) =&
(c) $erRH (d) FeHT-H0

75, Wi % g § Frefofas 9 # |
-8 T /8 7
| tfeeefifar uh AR TR |
/2. FinE fEvsd F fHer T EEg 5
T g AT R |
Hra fau wu e ) wEEE 8 FE I H I
HIGAT |
L T4
(a) wae 1
— (b) Fa= 2

(c) 1 3w 2 2t

dyF@13dz

:il""h
| 76, G e A A5 s w1 o qem:
\ for e o a7 7
C) (o) wTet A (b) TEERTE T

(c) & = (d) mTea FR

V77.) ‘fiem She @ wm Pefaian ¥ 8 feas
TS A A B & 7

(a) Smoke (b) Polluted water (a) gt (b) wgftm w=

(c) Fog (d) Noise (c) & (d) @y

In India the First Municipal Corporation | 78, = # & ffs ®m = wRa § wug 3w frmm
Eﬁ%ﬁg‘; a é:;;hich one among the o R mn o 7

(a) Calcutta (b) Madras ( b ) (a) Fe@ww (b) Hem\

(c) Bombay (d) Dethi (c) (d) feght

Diffusion of light in the atmosphere
place due to = s

(a) Carbon dioxide (b) Dust particleg

(c) Helium (d) Water vapours

:.5. TYAVET H O F TER F oy 4
\rqa]mi?-sri-m () = =

4.-1 E....
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82.

83,

84,
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ong the following neyer presided

<
(a) Lala Lajpat Rai Ongress ?

(b) Bal Gangadhar Tilak
ic) Gopal Krishna Gokhale
(d) gubhash Chandra Bose

which of the following labour related

8l Acts have been amal%%?atgd into the

icode on Wages, 201
[ Minimum Wages Act
1. Payment of Bonus Act
{I. The Contract Labour Act
V. Equal Remuneration Act
Select the correct answer using the codes
given below.
Codes :
{a) I and Il only
(b) II and Il only
(c) I, Il and IV only
d) L 11, IIl and IV

Who among the following had performed
the world's first heart transplant ?

{a) Dr. Venugopal

{b) William Harvey

(c) Christian Bernard
{d) William Betrick

With reference to Socotra Island, which of
the following statement/s is/are correct ?

L. It is an Island of Oman, situated in
the Arabian Sea.

2. It was designated as a world natural
heritage ait%enlﬂ;;y UNESCO in 2008,

Select the correct answer using the codes
gven below,

Codes :

8) Only 1

[b) Only 2

(¢} Both 1 and 2
\d) Neither 1 nor 2

Eii trogen is NOT an essential constituents

(b) RNA

l8) Chlorophyll
poy ) C m,,hahydrate

(c) DNA

da

SMRN-1 - 21
80. Pt 8 4 frea i Wiyl HIE
% Frdi ot rftdsm mmqﬁtﬁi
(a) STem S T4

(b) =ret we e

() TITaTEr e e

(d) gYI = A

B 1 -8 2 wve) apfft w5 el
sifgar, 2019' ¥ aftyfem frm o 2 7

N—f Apan wel st

\AT A T stfafEm

111, wfaer #m sl

1v. g affrs wfufem

3 fei T e B T I w0 =gs fih |

O

(c) = [, 11 3 IV
(d) 1, 11, 11 3 IV

82, faya 1 vEen ®ed womww = # 8 feem
G

(a) =T, AT

(‘E' (b) faferm &3

(c) ferframs &g
(d) Fafeem &fem

83\ AT d 3F Hed § FrafafEs # ] B6-11/8
FUHE B8 7
| AR R IR A swmEam ARy
2. ¥8 2008 # FIR! T THEE W SO

T & w9 | =7iva o T o |
el fg e e @ wt s |
e
(@) Faw
(b) et 2
(c) 1 3t 2 2rit
(d)Fdr 1782
84. TGN U SHrEvas SdE T 8
@ (a) FeTifRe =1 (b) ¥R, . T =
| © & W& (d) BEEEE

=17-
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B3,

86.

87.

B8,

89,

Which one of the following hools wiritien
by Noble Laurente Amartya Sen and
phl;lliﬂh.u‘.!d in.July, 2021 ?

(a) Development and Freedom
{b) The Argumentative Indinn
(¢) Home in the World

(d) The ldea of Justice

With reference to the Satavahana Rulers
which of the following statement /s is/are
true ?
1. The Satavahana Kings were the
nurtures of Prakrit language.
2. Public aspect of the arts got
more encouragement during the
Satavahana period.

Select the correct answer using the codes
given below.

Codes :
(&) Only 1 (b) Both 1 and 2
(c) Only 2 (d) Neither 1 nor 2

The primary duty of the Finance

Commission of India is

{a) To give the recommendations on
distribution of tax revenue between

the Union and States |

(b] To prepare the Union Annual
Budget

(¢) To advise the President on financial
matters

{d) To allocate funds to various
Mimstries / Departments of the
Union and State Governments

‘§1atuu ol Ifeac:e' 15 situated in which
State of India ?

&) Madhya Pradesh
(b} Rajasthan

(c) Gujarat

(d) Himachal Pradesh

Fruits stored in a cold chamber exhibit
longer storage life, because

[a) Exposure to sunlight is preyvented
(b) Concentration of CO, in en vironment

I8 increased
(€) Rate of respiration is decreaged
(d) There is an increase in humidity

-18-

@&

(

.-J-

ALl W

& P 9
Pt 3 8 - gees s 20213

0

wintfare wk ot 7 e
s (0) BaEwie wuE
1 @0 (b) & amfifefea givga
(c) ¥ 3 % aed 9
(cl) & gl 317 sfeed

rF,-r'"
86, )arane e & we # Pttt Ferdl |

- /8 e wea R 7

|,Wq}mgﬁrﬂﬂm%ﬁlﬁﬂ|

z.mmﬂm%mwﬁm
sitemeA fien |

19 o 1o 9 & WA 0 AP

3!

e
(a) @ (b) 1 3ftt 2 &t
(c) et 2 (d) A 172

87. WA ¥ faw s & mef wie @ 4
() #a 3fit o=t % wey W e & faeo

 (b) et A e daw s
[lz]mﬁﬁﬁﬁmmmmtrﬂém
(d) 9 & usy vt % fafvm st A
& fau fafit =1 fafas @
88. ﬁqaﬁmﬂn'ur{a%ﬁmmﬁmﬁmﬁ?
() W@ w39
(Ja (b) TITEAH
(o) Tster
(c) forvrerst w2
89, 9w e 3 ' : :
mm? ﬁﬂmﬁﬂm;ﬂmhm
1u11gf%imtm:iwfqmmﬁ
(b) AT # WGl CO,, ey s
(@ () ¥au o w1 By
(cl) SN &1 "G




192.

93,

04,

" garly

9l

o among the following wa
wh member of the ‘Nal.ngawgnrfé};{::n‘

(al Ehagal‘Siﬂgh (b) Yaspal
(c) Chhabil Das (d) Amhﬂiﬂﬂha]qaum

imhe Clock is Ticking' is the them
which of the following days ? e of

(a) International Yoga Day, 2021

() International Women’s Day, 2021
(c) World Tuberculosis Day, 2021

(d) World Malaria Day, 2021

St}glamya Bharat Abhiyan is associated
Wil

(a) Disabled Persons

(b) Child Health Care |

(c) Women Empowerment

www.sforstudy.in
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0. ) fretffias # & 1926 %, # nfaq He@m-wT
1 AR W i AR Al 7

(a) W fE@ (b) @I

(c) Befter g (d) ifEa e
91, ‘z Feirm 39 e Prafafes § & fe fEW

£ efm B 7

| (a) smmisE A foEw, 2021

o) O st ufgen feam, 2021
(c) favm Zht fa=m, 2021

(d) faza wafen fG=m, 2021
92, [T Wd AN T
[alﬁﬁhﬂﬁf’fﬁﬁ
e k= ok

®1cawﬁmmﬁ

(d) Under Privileged People

Which of the following Bills can NOT be
first introduced in Rajya Sabha ?

(a) Ordinary Bill ‘

[b) Constitutional Amendment Bill
(c) State Re-organisation Bill

(d) Money Bill

With reference to ‘NET — ZERO' goal for

2050, which of the following statements

i8/are correct ? N

L. It means that a country will bring
down its emissions Lo zero blf 2?50-

2. It means that a country’s emissions
will be compensated by absorption
]i'flnd removal of green house gascs
rom the atmosphere.

Select the correct answer using the codes

Even below.

2 Only 1 b) Only
[e) Eutﬁ 1 and 2 Edl Neither 1 nor 2
At which place did Raja Ranjit Singh set |

Up the Adalat-i-Ala ?
l8) Amritsar (b) Lahore

(dl) == =i &

93, frofafas d 8 =m- fadss osew 8 yyg =n
TEATTA AR A1 51 Fh &

() TmETO T

(b) Giteraies Ganay fada=

s
[ Y’

(0L (o) T4 e fatw

(d) = T

94. J2050 % fer Fe-S @ey & Hed |
Fefafas # & F9-31/8 Fu= 56 8/2 7
1. 3u st & T g =t 2050 76 9%
30RO @l I T A @l & |
2. o aifyu 2 55 et 2w & 3ol
F1 wrfeafd e § i wes 169 @

() Firozpur (d) Multan

e e aEwmm 8 w0t |
#1 fau e e F af I F =g Fife |
%
() Faw (b) et 2
(¢)13ft2dm  (d)a@1ad2
95.) T it firg 3 fore =9 W srRTeR-u- a7
+t s ) 7
(a) 3rgaEt (b) =R
EREztE (d) HeraH
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96. Given below are two statements One Is | 9f ﬁi‘lmﬁqmi,ﬁiﬁﬁﬁﬁ

labelled as Assertion (A) and other as itz ) T (R) FE TR *

Reason (R) : -\, #R . Porey sy 3 AE q
Assertion (A) : The President of India / a?fqa!lh ; mﬁﬁrmﬁ'ﬁ"m% I

i the gualifications of the T
g’f«.ﬁﬁg;nd E‘Iélmh::rs of the Finarice (R) : 312 9 Haw 1 ﬁgﬁ
Commission. Wﬁﬂ;mﬁfﬁ% | —
Reason (R) : Chairman and members are 19 fiw 1w =5 1 wETE@ # |l IACH

appointed by the President of India.

: ) |
Select the correct answer using the codes

given below. B2 5 £ =l
Codes : (a) (A) 3 (R) ;‘mﬂmﬁ 3 (R), (A)

Both (A) and (R) are true and (R) is ST Al
& ::urrcél explanation of (A) ! (b) (A) =i (R) 21 e 2, B (R), (A) =l
(b) Both {A) and {RI] are Itrue.flf[rg;: (R} is e mEn T w R

not correct E}ﬁp anation o r '
(c) (A} is true, but (R) is false ‘:@ (c) (A) 5= B, &R (R) ’Tﬂ?‘z
(d) (A) is false, but (R) is true (d) (A) e R, R (R) w1

97. Which of the following is NOT the eligibility | 07, 3w wim gt w=iemm @ 2021 % fou
: criterion before filling regis’tralioné e fﬁﬂﬁﬁq ug W & T BerteifEa A B

application forms for Uttar Prades

ukhya Mantri Swarojgar Yojna 2021 ? FH-H1 YA HT HACYE T 2 ?
(a) Age group from 18-40 years (a) HATY i 18-40 T4
(b) Minimum high school pass certificate | . (b) =[Fa0 ¥ THa = THWH
(e] Should not registered in any Central |. L._ (c) frell 1 TR 31 TS "R =UET
Government or State Government | - AT G e
Swarojgar Yojna fall o) i
(d) Citizen from any State of India () ¥ < fasi oft 7= & it
98. Which among the following districts of | 98. 3 e # Fr=fefian # & F-m1 fren fawe
Uttar Pradesh is smallest in terms of  HIRBFEE B R 7
area ? N g :
(a) Hamirpur (b) Hardoi ol ) &) T (b) =g
(¢) Hathras (d) Hapur ~— (c) TTeIH (d) B
99. Consider the following and arrange these 99, Fr=ifefe ut fram it e I FIeTRA
in chronological order : + % srafie Hifau T Ll
I. Golak Nath Case 1. ey are — £
II. Kcs}hawanand Bharti Case "' FIEE= W ae — 9
th : : ¢ e
lIL. 24" Constitution Amendment Act 11, 24 af WRAYH Fua

IV. 4294 Constitution Amendment Act dfavE |
Select the correct answer from the cadcs( C— IV, 42 = Hﬁﬁ%_ / 93
given below., A9 U g iiimmm% |T€

Codes : He -

(@) 1, 111, 11, IV (b) 1,11, 11, 1v (a) I, 1L, 11, IV (b) 1, 11, 1y

(e) 101, 1, 11, IV (d) I, I, v, 11 (c) L, 1, 1L, 1V (d) 111, | v IT
100. PM VANI Yojna is related with 100. SaFH:A A0 F5E HT Hos, 2 <t

(&) E{en:lsurship in Print and Digital (a) fae @en fefew Hifgay 3 ﬁ:\‘ﬂ’ﬁn

caa H"ﬂ‘ﬂ' ﬁm

(b) Development of Lok Sangeet ( (b) i ¥ | 8

(€) Audio-Visual Release of Lok Sabha (c) S & -3y S8 )

(d) Availability of Wi-fi in Public places (d) aTdafiE T

-
-20- ey ST )



101. In

103.

104,

105.

106,

2. Which of the following words is NOT

www.sfors

the contexts of Indian history
the following statement /s ig /o
regarding Vaikorn Sﬂt}raya]f: :r?ﬁ correct
1, It was a satlflagraha againsts

untouchability and casge

discrimination.
2. Mahatma Gandhi

this Satyagraha.
Select the correct answer
given Brelow.

Codes :

(a) 1 only
{c) Both 1 and 2

which of

Participated in

using {he C{Jdt:s(

(b) 2 only
() Neither 1 nor 2

mentioned in the Preamble of the
Constitution of India ?

tudy.in SMRN-1 - 21

101, st gfers 3 e  armm goame & FE
3 Pty wul # & He-aa e /8 ?
|, 7 a3 s e % e
T HeAHR o1 |
2. wEEAT MYt 1 58 weae 1w fermn W

@ S fot o e W ST S HE I 9T |

=he |
(a) T 1 (b) Haet 2
(c) 1 30 2 2 (d) I 1AH 2

102, Freferfiaa @ & FH-m1 e Wi @fEE
weTE H Secifga e 8 7

(a) Sovereign (b) Democratic s (a) FEAYAI (b) FFATHE

(c) Secular (d) Federal CL (e = (d) HEE

Which of the following is the largest Ertfafign & § sg & g1 92 W e w=a =€
]ﬂ_glncép lgkc situated on the east -:Eazt F_IEE‘ iﬁﬁﬂ = F- 2 :‘Eﬁ

al india -« B

(a) Pulicat (b) Chilka C !:7) la]‘:‘!Ffﬁ?E (b) ﬁr_m’_'_

ic) Kulleru (d) Kilivali (c) Ft® d)

Who among the following Director | 104. 2021 H 3T 3@ Wi & 3= AR fow= =1

won Lhc_Dscar_ Award for the best
motion picture in 2021 for the movie
“Nomadland™ ?

{a) Chloe Zhao

qrERT Hia arell feen ‘Amstve” @ feee
frafafes 4 | frem fem =@ 7
(a) FETT AT

[b) Emerald Fennel {s

ic) Lee Issac Chung
(d) Thomas Vinterberg

(b) TS S
(c) <t gam =
.{dlﬁﬁrmﬁmﬁ

—

Among the fellowing countries Indigl's( 105.'2019-20 # Frefafaa 23 # & feed wna =
brads Balasice surplus is maximum with\l /sy s snftres watfes @ 2 7

which country in 2019-20 ? a) 7. TH. U

(a) USA b % 3

“-“ Chl na [itl.:: SH

(¢) Japan 1) T 3 s

(d) United Arab Emirates (c)

The functions of the State Public ﬁﬂﬁ"it‘;g 106. I 9aW & T ik el WM F FEl
Commission of Uttar Pradesh ¢an ferm ﬁm 0w}

extended by ( A ) (@) warmi g

(2) Prime Minister S (b) Fwla wfAF, cieh fRrewr qen Hw

(b} Union Ministry of Personics T 7

& Grit:\—'anc.ﬂﬁ and Pensio () TeH T

€} The President Legislature (d) 3w wew faum qoes gm

[d) Uttar Pradesh State

-21-
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107. Match List = 1 with List
the correct angwer using

below the lists.

~ 11 and select
the codes given

t=-1 List - 11
tre t) @uthnri
A, amaln 1. somanath
B. Rasa Kaunmudi 2. \'en'im_lnumm 1
C. Raga Vibodh 3 Pundrik Vittha
D. Lhntunhmdi 4. Sri Kantha
Prakashika
Codes :
A B C D
@ 3 4 1 2
b 4 2 R
e 2 3 4 1
fdy 1 2 3 4

108. Which one of the following is the main
consttuent of LPG ?
(a) Hexane (b} Pentane
(c) Butane () Methane

109. Which among the following is NOT a
major factors of economic growth ?
{a) Accumulation of capital and
reforms in technology
(b) Change in population
(c) Division afﬁ} bour in specialised
activities
(d) Technocrats and Bureaucrats
110. Zero Hour' in the working of the Indian

Farliament means
{a) The first hour of the Session

study.in

EHRN-I-—ZI
107, = — 1 g=h — 11 ﬁrﬁqﬁmqﬁlﬁ
%TﬂMWgﬁﬂgﬂ%«
(1) nvfhmr
ﬁ.% 1.
B. ™ 2,&mﬂ
C. 1m faeiy 3. fagaet
D. SEvd el 4. A w08
W2
A B C D
@) 3 4 1 2
(b) 4 2 1 3
o) 2 3 4 1
d 1 2 3 4
108, fit # & w1 wer 5, w5 qEA s R 7
( = (@) BEEA (b) =2
(_J (c) =2 (d) e
100. fr=fafas # 8 F1-a1 anfds fa=mm 1 998
I TH B 7

(a) dsft w1 HeA vE qeTS HET
(b) SeEn | yies

() Forirdfiga frnadi mfafafiedt # aw R
(cl) TeReTRTeg UE AR

110. it o ) Frad § T w0 w5 o 2

(a) T2 =1 9YH T2

(b) When privilege motion are accepted |7 \ (b) 99 faemfiEm BISIER=IE TR AL
{c) Hour before question hour o,
(d) The time immediately following the [N (€) 37 ST % qo 1 ret

question hour () W Fret ) Sreh wrER = e

111. In which %'t:ar the book ‘Poverty and 1. urEdl we amEtaEn w5 w sy AT Y
Unbntish Rule in India’ was published ? firg ad Wil gﬁ ?

(a) 1900 A.D. (b) 1901 A.D, E (@) 1900 §. (b) 1901 %,
{c) 1902 A.D. (d) 1903 A.D. (c) 1902 §. (d) 1903 %,

112. Who among the following has been | 112, fr=fifias # @ fres! wqwm 1oy
appointed as first Women Treasury vy wfken e ':ﬂﬂﬁiﬁl
Secretary in United States of America ? R M % W i ﬁﬂiﬁ'l T
(a) Lyoyd Austin (a) TaE it
(b) Janet Yellen ( b ) (b) ¥ 36
() Merrick Gardand (c) Hfte e

{d) Tullipan

(d) Zefer

-22-



113 which one of the followin

: : i
acceleration Stage in th S rpchown as

€ Urbanization

) Firs tcongd
[;}il Third stage (d) Fourth :!};lggg

Jofiavin deficiency cause

114 Ellnwing discases ? s which Sttha
(a) Pellagra (b) Seorvy
:L-'] HE‘H BEI’i {d] Chcﬂﬂsis

who among the following was NOT
" associated with the Kanpur ¢ :

East of 1924 ? P onspiracy

(a) Muzaffar Ahmed

(b) Nalini Gupta
(¢) Shaukat Usmani e

(d) M.A. Ansari

Ministry of Culture, Government of Ind;
as part of Azadi ka Amrit Mahé?;i;i
celebrated the birth anniversary of
Saheed Ram Prasad Bismil in June,
2021 at which one of the following places
in Uttar Pradesh ?

(a) Chauri Chaura (b) Shahjahanpur
[c) Rampur (d) Ballia

116.

117. Which of the following newspapers

won the ‘Pulitzer Prize, 2021' in the
prestigious public service category ?

(a) The Wall Street Journal

(b) The New York Times

[c) The Washington Post

(d) New York Post

www.sforstudy.in
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ﬁnﬁﬁﬁﬁﬁﬁ?ﬂﬂmﬂaﬂwﬁlﬁﬁﬁﬁﬁ
SaEa il A8 7

(a) HyH LA (b) faefta a0
(c) gt e (d) Fad
114, Teamafas & w0 & frm § 8 wA-= W
|
(a) Tl {b) ==
(c) & =t (d)
fr 1 & B4 T 1924 F T 9999 A A
it @ o1 1
(a) TIEHT TEAG [b]qﬁﬁﬁzﬁ
(c) TiteRa FHATH] (dl) A, W FET
116. WA TR & HEH Hamed 3 TG = 3T

wEledd *h U 37 & B9 # 54, 2021 7 7EG
T waTe fafeTe < S e ven | frafatEd
i § fre wam ot werEt Tl 7

(B @t (b) W
o) TR () afern
/117 faaferfian wmemt # @ ey sffe S
N i § qfere qEET, 20217 St 2 7
(a) & aiet FiZ
(b) & =gATH e
(c) g arfdmes qre
(dl) =T b=

118, AT si s e Fefated 7 4 a2 fem

118. Nobi and Kanto plains are }ncz:;ed in 57
which of the following countries : !
(a) North Korea  (b) South Korea (a) 37 HifEn (b) =Teor
[c) Japan (d) China (CRIRIE] (d) =T
119, Site of gaseous exchange in lungs is 119. %wet § A fafamy =1 wue 2
@) Tracheoles (b) Bronchioles (g (@) 35 iIEEfﬁnﬁ (b) HifeRaTeH
[¢) Pulmonary vein (d) Alveoli ERELE (d) srfFagren
120, Which one of the following pairs 18 NOU =r€f B U RRHR SRR
C
nr;'r:cﬂy matchled ? (Nirvan place) (#ftefer) (Frafm e
(a) FEYNY = IS
&) Rishabhanath - Ashtapad i
(b vasfpuj;za ] smmeiﬂshﬂ‘hﬂ’ ‘l’j;; NS, - Wi
(© Neminatp - US&20 () et iy
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121. Which of the following t
cut off ultraviolet rays
(a) Soda glass
(b) Pyrex glass
(c) Jena glass
(d) Crookes glass

es of glass can

_Match List — [ with List — Il and select
the correct answer using the codes given
below the lists.

b

List - 1 List - II
(Volcanie (Country)
Mountains)
A. Mount Rainier 1. Italy
BE. Mount Etna 2. Mexico
C. Mount Pericutine 3. Philippines
D. Mount Apo 4. U.S.A.
Codes :
A B C D
faj4 2 1 3
)4 1 2 3
)2 1 4 3
d4 3 2 1
123. Which of the following is indicator of air
pollution ?
(&) Puffballs (b) Algae
(c) Lichen (d) Moss
124. Which of the following organization has

llsla_;unchcd ‘“The l(_:—grl:aé al:set' Initiatives for
fie recovery of global economy durin
the Post Covid - 19 phase ? Y E(

(&) World Economic Forum
(b) World Bank

(c) OECD

(d) UNCTAD

125. The winner of the women’s single titl
the French Open Tennis Tuuﬁ‘lnam:nﬁtt
2021, Barbora Krejeikova is from which
of the following countries ?
(@) Czech Republic (b) Serbia

[c) Croatia (d) Spain

126. The name of the foreign journalist who

reported about Satyagraha at Dharsana

tudy.in

t works was
(a) Francis Louis (b) Mark Tully
(c) Web Miller (d) Philip Sprat

S:M:Rﬂ_]_-ﬂl
121, fieforfian 4 & g & -9 T
feort =t wmeen 2 7
il s
@ CERE ]
= (d) FHE w9 J
lzz.ﬁﬂqaﬁq@ﬁ"uﬁgﬁﬂmww
% 12 ford 72 e @ ey S AT |
et - 1 Hﬁ:ﬂ-}“
(rrerTedt udd ) .
A. HT392 1 1. geeft
B. WTavE Uz 2.
C. wuw Yfgdm 3. fresd
__ D. wrgve a9 4. 4L
[:a :
A B C D
@4 2 1 3
B4 1 2 3
)2 1 4 3
d4 3 2 1
123, F=fefld 3 & FH-w1 979 WeI9 H GO 8 7
A (a) Tt (b) dr=TE
= (o) vmsA (d) =g
124,ﬁﬁﬁﬂﬁamwaﬂﬁz-19#m
A At siefsrEen % I ¥y T i ode
. WATH T Wey form ot 7
O:W (a) faem anfifs 9=
" (b) favg &=
(c) o454,
(d) s (A ns)
125, %= st 2w , 202
o lﬁm
Agfrmdnat?
(a) S TR (b) Wik
(e) (d) ¥
126. B fault wem &1 7 qmmy
wﬂtmﬁnﬂﬁmﬁhﬁmm
(a) ifeE g (b) A gk
(c) 39 frem (@) P

-24-
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127, The

128. G

1329,

130.

131

-Who was the founder of the

Nobel Peace Prize, 2
10 which of the fu]luwingﬂ ulgg:"nﬂ_s aw
world Food Programma isations
(e o

Wor ealth Organj
) World Banik ation

{a)

ven below _H.r!‘.' t\!vg state
jabelled as Assertion (A)
Reason (R)

Assertion (A) : The gOvernment f;

a tough time tackling th aces
inflation. 8 the bottleneck
Reason (R) : The situation is (
deficiencics 1‘*’;;“;“8 in the ecm?:n:;
such as supply bottleneck and i X
distribution, inefficient

Select the correct answer from the codes
given below.
Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

[c) (A) is true, but (R) 1s false
(d) (A) is false, but (R) is true

ments one is
and other as

Which of the

following is NOT r:arrcctjﬂi
matched ? \

(a) Hundru Waterfall - Subamarekha
River
[b) Chachai Waterfall - Bihad River
[c) Dhuandhar ~ Narmada
Waterfall River
([d) Budha Ghagh _ Kanchi River
Waterfall

. e dation of which
gélmlr:i;sir;; F E}E‘Lﬁ'l?ttee: the Inter-state
Council was set up in India
[a) Punchhi Commission
(b) Rajmannar Committee
[c) Kothari Committee
[d) Sarkaria Commission o
‘Asiatic
Society of Bengal' ?
[8) Jonathan Duncan
[b) Sir William Jones

www.sforstudy.in
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o, 2020 Frefefan # 4

el e R 7

Wy A
E;%Hﬂmﬂmw

(c) Tava TETEA HTEH

(dl) Torem &%

128, 9 21w T &, P & v =) B (A)
aﬂu@ftﬂi‘tmm}wwi:
mﬁmﬂﬂm:mﬁm@{wﬁﬁfﬁﬁq@
3 foru wHFaR W 1 AT e T%a 2 |
RO (R) : T fRufy sreferaee # sy 315
et e e S aET % ww w8 |

#ra 2w w2 ¥ w0 S = A

127, Sr¥m it
] w YA

a

=

we!
a.) @ (&) 3K (R) 1 weg & 7 (R), (A) A
e SwE R
(b) (&) 3T (R) 3 & &, g (R), (A)
wé s T el 2
(c) (A) ¥ B, TR (R) T 2
(d) (A) e B, fF (R) F 2

“T20) e 3 & @ v AR AR 7

(¢) Warren Hastings
(d) William Bentinck

(a) EYSE WITT - gaviar @l
(b) =TS ST e EREL

T (o) uHR W - A
(d)q@Em AT - il A4t

130. Fr=fafias § & S19-8 s /e $ ot
Ut yig # ari=n gfteg = = 6 o7

e (a) 9Et smEM

{FCJ\ (b) TremET gk

( /  (c) wert whifs
() ETERTiET ST

131, ‘wRRrfs deEd s g S geugEs
Y7

(@[a}mm
lbl:’:ﬁqﬁﬁrﬂym
(c) L=t
(d) faferm s

-25-
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% : ifre a9 ¥
132. Consider the formation of following Séa‘tﬂf‘-‘ 132. F=fafiag =i & 1 W far=m

and arrange these in chronological order - TN H safedd H9g |

. Goa [ Tiar

II. Telangana 1. A

I1I. Jharkhand (.

IV. Haryana Ly i“ s

Select the correct answer from the codes {7 1V I .

given below. (Jj :ﬂﬁﬁqﬂ[{??ﬁmﬂﬁlﬁﬂﬁﬂﬂwﬁgm I

Codes : Te S

@1, 1m, U, v (I, LU 1 (@) 1, 1, 1, v (b v, L UL s

(e) I, I, IV, T (dy v, I, I, U (), 1, v, 1 (d) v, I 1L

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R):

Assertion (A) : Various components of

an ccosystem are not interdependent.

Reason (R) : Human activities have the

impacts on the efivironment.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and [Rf are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) [A) is false, but (R) is true

Which of the following Islands is NOT
located in the Caribbean Sea ?

(b) Montserrat

(d) Anguilla

133.

134.

{a) Grenada
(c) Madeira

135. After cutting cucumber if salt is added,

then water comes out due to
(a) Active transport

133, 4 21 e fam v 3, Formtd & 0 1 AR (A)
3N gt %1 FO (R) FE T

e (A); wiifEafE 7 % Y e

I 1w 2Et 9 i AE 2

& (R) : wra fas A TATE AT
B8 |

419 R o gz & | I H F9H HI(AC |

E{maﬂumﬁﬁﬁmém’mm. (A) =
HE] ST T 8

_ (b) (A) 3T (R) BFT 7= %, TR (R), (A)F

'rf\"“. T = T w8

N (o) (A) EE R, TR (R) e @

= (d) (A) e R, BRe (R) 57 2

"-134'-#{!% f A & FF - 9 Ftfes wrnd asten
T (o) T (b) e
(c) wE (d) Wrgem

135. it 1 Fre Al T et ST 2. o By §
Og"ﬁmﬁ;mwﬁﬁw%? b R
(a) HhFg gfteEs

(b) Passive transport . (b) FifEra it

(c) Osmaosis @ ){C] T

(d) Diffusion “ () wE

136. Which one of the following is NOT | 136. Freifafed # & ®\-m o gk

correctly matched ? frgendi TWEE 7

iHan::& of Player) (Medal Won in | 1 A1H) [ﬂﬁ i
okyo Olympie 2020 & fafyg
2020 )

(a) P. V. Sindhu — Bronze Medal (@ (a) 1. -‘:ﬁ ﬁ‘g - Wy e

(b) Bajrang Punia - Silver Medal (b) &S i - W ves

(c) Mirabai Chanu - Silver Medal (c) B S ¢ :

(d) Neeraj Chopra - Gold Medal (d) = = - g
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137.

138.

139.

140.

141.

142,
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In which Stalge of Indig is
Civilization site Mangj sit
() Gujarat

() Rajasthan

the Har
Uated
(b) Haryan,

(d) Uttar Pradesh

o

appan

tndia climate change knoy
months of 2020 ?
(a) Novemnber, 2020
(b) December, 2020
(c) September, 2020
(d) October, 2020

led

Ich of the Okl

owing

How many districts of Uttar Pradesh |

has been covered under the Aspirational
District Programme run by NIT] Aayog
up to June, 2021 2 2

(a) 4
() &

(b) &
(d) 10

Which of the following Articles of

the Indian Constitution is related to |

Contingency Fund ?
(a) Article 265 (b) Article 266

(c) Article 267 (d) Article 268

\

Which among the following organisations
released the World Population Report,
2021 ?

) (a) sg=3= 265

SMRN-1 - 21

13';_3@%%%@,%%%@*

fam e ?
) T (b) EFETm
1\‘3@ l[?;;nmm (d) 3T W&

138, ‘girea wATgAC U9 ATeS qréd
2020 % Frfafas # 8 fra wfEd
T 1 7
(a) TR, 2020 §
(b) feemart, 2020
(c) fereea, 2020 4

(dl) 3rEgAT, 2020 ¥

—
1;ﬁmmwmmmﬁmm
N 3 s 3w we o fRee fawi = 99, 2021
7 Tmiue fEm e 2 7

(a) 4 (b) 6

(c) 8 N2l
140, Frfafaa # & yweta w@Eum f1 F59-81 J1=93
< SRSl A H T R 7
(b) =% 266
() W= 267 (d) ¥IT=9% 268
141, Frafafian 4 & frm @7 g0 oe SigeEe
/i, 2021 st fem & 7

5 fom

~—

(a) International Monetary Fund a) m"-‘ffﬂ b Al EET“F .
[b) United Nations Population Fund (b) S U FTHE T
(&) Unstec Naticns Development ) f e sz

nited Nation ;

Programme a0 e faems ks

Match List — | with List — II and select [ 142, T — 11 e - 11 @ A i T gReE
the correct answer using the codes given & 4 fau mo F2 | #E I w1 94 Hie |
below the lists. iat = mﬁ; I !Eg;;a I:nﬁ

List - I (TR % e

(State of India)  (Highest Peak) Al ) (FE 2 )
A. Tamil Nadu 1. Dhupgarh Peak 1 S
B. Raja;;[h:n 2 Saramall Eeak B. w x‘;‘ [Tt =51
C. Nagaland 3 Gurushikbar C. At - <A
Beale . ita D. e yaw 4. sIE1 A 9

D. Madhya Pradesh 4- ]I;Jg:ka T
Codes - A B C D

A B &.D @ @ 3 2 1 4
@ 3 o 1 4 ) 1 4 3 a2
) 1 4 3 2 € 4 2 3 1
4 g 304 @ 4 3 2

l G 3 2 27 -‘_‘—‘_-_-_'__‘—-—-—_.___
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et

143.

144,

145.

146.

A non-renewable source of cnergy is
(a) Solar energy  (b) Petroleum
(c) Wind energy  (d) Biogas

o

Which Indian Naval Ship participated in
Exercise Cutlass Express, 2021 ?

(a) INS Vikrant

(b) INS Magar

(c) INS Talwar

(d) INS Vikramaditya

p——

With reference to NTPC unit at Sing_l‘ﬂmi,
which of the following statement /s 1s /are
correct ?

1. It is situated in Northern part of
Chhattisgarh State.
2. Itis NTPC's oldest unit.

Select the correct answer using the codes
given below.

Codes :

{a) Only 1

(b) Only 2

c) Both 1 and 2
({d) Neither 1 nor 2

Match List — I with List — Il and select
the correct answer using the codes given
below the lists.

List - I
(Scheme)
. Aam Aadmi
Bima Yojna
. P.M. Aatmanirbhar
Swasthya Bharat Yojna
. Pradhan Mantn
Jan Aarogya Yojna

. Pradhan Mantri
Suraksha Bima Yojna

Codes ;

List — II
(Year of Launch)

1. 2021

2. 2016

(

3. 2007

c o0 W >

4. 2018

A
(a) 1
(b) 4
() 3

sMRN-1 = 21

| 143, @ Faf @1 =i %ﬁ
L) (@ e i (b) FEFTT
\_,) (c) 31 Fi (ef)

144,mqmﬁn,znmmﬁwmﬁ;
e ser 3 v ferem o1

(a) #md. v um. fasmia
@Ah] 318.07.00. W

(c) 318,07, 78, qean
() 31mé uq.um, Fwdifee

145, WA 5, £ frdteh fEua serd % g2 |
Fwferfiaa i & #-wn /& w7 e /2 7

A wN W
—~ AR WE
W — oI

(d) 2

. B B ETG T 3 I 9T H U R
2. %8 A0, Fi gead g s € |
A9 fw e e & wdt swcF 9
e
{a]é:ﬁ?il
. [b) Fe 2
\J:*/‘ucnlai’rzzﬁ
(d)Fa119d2
146. F&ft — 1 % g - 11 | ghfew S aen g
% A9 fw e e 3 wd S =g i
T -1 el — 11
(=) _ (e )
A, 39 JTEH] =THT FTeET 1. 2021
B. f.uq. seafnit =y 2. 2016
@) VT i
C.mmmﬁm 3. 2007
D. SUTTHC] Gl S Awm 4. 5015
w2 :
A B C D
@ 1 2 3 g4
() 4 3 2
) 3 1 B £
@ 2 4 1 3

-2B-
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147- zrgﬂﬂisﬂj in which of the I‘G]lm?.r?r?g] cit;ra'?
T
IE} Lu['.krl'}w i‘d} Nﬂida

¢ the followin
146: in chr:%nolugi{:al urde% g?
[ndia
1. William Hawkins
1. Ralph Fitch
. Sir Thomas Roe
[v. Nicholas Dawnton

Feign travelers
thﬂ‘[r Hrri'uu] in

Select the correct answer using the codes
given below.
Codes :

{a) 11, 1, IV and III

(b) IV, 1, I and 111 (
(e} I, 111, I and TV
(d) I11, 11, IV and 1

149. Foreign Minister of a country, Anthony
Blinken had visited two days to India for
strengthening co-operation on July 27
and 28 in 2021. He belongs to which of
the following countries ?

{8) United Kingdom

[b) United States of America

[c] France

(d} Australia

130. With reference to ‘birth rate’ which of t_;‘l-‘:
ollowing statement(s) is/are correct

l. Urbanization helps in reducing the

tudy.in
SMRN-1 - 21

147, g AR e — 2021 T SIS
Erferfiaa # @ o wmee # fomar & 7

@ia]m (b) T
(c) TGS (d) et
148, Frefufan freh @ifEl #) 37 wE 3= 5
THERHTAT SAareaa I ;
1. faferam wife=
1. Tes =
111, 6T 98 T
v, friem 5132
frat fou U g2 B FE I F A A |
T :

— (a) IL, I, IV I
@){h; IV, I1, LT 11
X

() I, T, 11 7y IV
(d) 111, 11, TV & |

149, 27 U§ 28 JEE, 2021 1w 2 F faem w1
VR festeh 3 T % AT GRAT T
w0 % fou i i 2 Reada am & 6 ) 5
Fefrfennafm e agaEa e 7
(a) Frses famen
(b) Ha=a =T IntfER
(c) W8

(d) sl

150. 7 o weed # Famferfam el § & S9-w1/3
/R
74“1+mmwﬁmmﬁﬁugmg |

birth rate, Bl
2. High literacy rate is directly related S 21 1 =T S=TEr & i
_tolow birth rate- HrEy
elect the correct answer using the Cﬂdes(‘ 13 = feu w2 I Wl I :
g:"'n below, Tz g
dE.B L
) Only | (b) Only 2 . (a) Fae 1 ‘ (b) Fas 2
‘E]Ec‘thlandﬂ (d) Neit.herlﬂﬂf (c) 1 3 2 & ldl’i‘d’rlqﬁa
___..--—""--—'_
8 -29-



